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IDatatype.SI A tree is

Empty
An int list is Modell,x, )
- C)

, or alive
- × : : xs where xiint tree

xsi.int list
× : int
r : tree→and thats it !

→ and thats it!

datatype int list = datatype tree-_____

[ ] Empty
1 % 0--1 int * int list 1 Node of tree* int *tree

8%(4×5)



datatype boot =
(e , , ez) : T

, * T2
true -

- -

- where
l false
e-

e
,
: T

,

ez : Tz

Datatypeconstvlor@ocreatevalues1i.K
. :o)

• patternmatehy



case e of Patterns p one

P
,
⇒ e

, • made from
lPz⇒ez -vai•bksg②f-÷

.

- Constructors
• match valuesIpn⇒ en -

①Étmeteh
-

② Exhaustive ynou-exhwstnewanz→-

③ Non-resident



Pattern ÑÉi Binds
I I nothing
✗""Ñ|"÷¥É¥'¥¥what p,

p, mahkesv , ondpzbind

a.sk?;tohesvz#yEs:aI:;;::gnd-
Node p Node ✓ what p does
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datatype model =

EnterHave

I Enter Password of string (* none *)

I LoggedIn of_⇒ (*none⇒

① view_ the model as a strip
② aspired to user input

by transitioning to anew model



(* input is what the user typed in *)
fun respond (m: model

, in_p@t.strip : model =

cast m 0£
EnterNone⇒ Enter Password:(put )
I Enter Password Game) ⇒
(case check Password¥0k
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true⇒ LoggedInfrared1 false⇒ Enter None )
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- -



fun view ( m : model) : string =
Case m of

EnterName⇒
"

Please enter your nose
"

I Enter Password( none)⇒
"

Hi " ^ name ^ " please enter your password"

I Logged In Crane)⇒
"

Welcome " ^ name ^ "
- -

- -

"
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